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MATHEMATICS

nd + seventeen = H
26. Seventeen lakhs + seventeen hundred + seventeen thousa ow

much ?

nd seventeen
(1) Seventeen lakhs seventeen thousand seven hundred a

| nt
(2) Seventeen lakhs eighteen thousand seven hundred and seventeen

(3) Seventeen lakhs seventeen thousand eight hundred and seventeen

(4) Seventeen lakhs eighteen thousand eight hundred and seventeen.

27. How many years will be required to double the principle amount of Rs. 5000/

- by simple interest at the rate of 4 p.c.pa. ?

(1) 50 )5 3) 15 4 20

28. What will be the product of a greatest 5 digit number and 2 digit greatest even

number ?

(2) 98 99 802
4) 97 99 902

(1) 98 99 901
(3) 97 99 804

29. How many days after Balika din, falls Republic Day ?

(1) 23 (2) 24 (3) 22 (4) 26

30. Neha's father deposited Rs. 10,000/- on her Ist birthday at the rate of 8 p.c.p.a.
in bank. What amount will her father receive on her 6th birthday ?

{2) Rs. 14800 (3) Rs. 15000 (4) Rs. 15800

——

(1) Rs. 14000

SPACE FOR ROUGH WORK
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26.

27.

28.

SECTION-II
T

AU dE + GaO9 + G990 BN + U = fHdi?
(1) 90 9’ T TR 9EY 9l
(2) 90U ©RE B0 TR A@9 TaU
(3) T 9@ AU BOR AESW Wl
(4) U €@ 3T TR 3MSY Hal

TEEY. 4 E 5000 TR T@AN GEIA=Al W BgEE! fhdl a4 wrRier?

(1) 50 )5 (3) 15 4) 20
5 i Hiogm Higdl WEiW 2 i HigaWd Hiod WA WS TR S TOER
[REIEERE

(1) 98 99 901 (2) 98 99 802

(3) 97 99 804 (4) 97 99 902

29, aifeis faaFar fordt feaai gomames g dar?

(1) 23 (2) 24 3) 22 4) 26

30, e @Ei foen ufeen SRREEE 10000 T LAY 8 WA dmd 9 W

e e AefkaEen foen aWi TR R wERd e

(1) Rs. 14000 (2) Rs. 14800 (3) Rs. 15000 (4) Rs. 15800

el HUAET wad
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31.

32.

33.

34.

36.

70 Hectograms = How many gms. ?

(3) 700 (4) 7000

a1y 7 (2)70

L tes of Rs. 500 and
39 students collected Rs. 525 each for picnic. It had 40 10
remaining were Rs. 5 notes.

How many Rs. 5 notes were there ?

(3) 45 (4) 85

(1) 95 () 25
Sunanda Tai earned a profit of Rs. 17000 by the sale of pomegranates. She had
spent Rs. 7000 on plantation, Rs. 5000 for pesticides, Rs. 3000 for labour and

Rs. 1000 for transportation.
Then, find the selling price of pomegranates.

(1) Rs. 23000 (2) Rs. 33000 (3) Rs. 1000 (4) Rs 13000

The breadth of a rectangle is equal to the side of a square whose perimeter is
24 cm. If the perimeter of a rectangle is 28 cm, then what will be its length ?

(1) 4 cm (2) 6 cm (3) 7 cm (4) 8cm

There are chairs from no. XXVII to LXVI in a row at an Auditorium. Then
how many chairs are there in the row ?

(1) 38 (2) 39 (3) 40 4) 48

A number is divided by 15, the quotient is 12 and remainder O. If the same
number is divided by 16, what will be remainder ?

(1) 180 (2) 4 36 4) 14

SPACE FOR ROUGH WORK
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31, 70 THRIME = fHdt un
7 (2) 70 (3y 700 (4) 7000
32. EAEEl 39 fagareaft ydwt 252 TUd WA ol @HE 500 €YETEN 40 @ 9
Il 5 TR el Bl W W S wudredl Fhdl e gen?
() 95 (2) 25 (3) 45 (4) 85
33, YIS RS fawiga 17000 T TH e ol Swia arEdEE
7000 ¥, MUy FHaRUEEt 5000 T, WEOEE 3000 T T ARGHEET 1000
T T FN T W SEard wEy fash fema R
(1) 23000 w4 (2) 33000 T4 (3) 1000 w72 (4) 13000 T
34. 24 Wl IR STEeTm <RETen THT ANUAE ST Tal SR, SEdrEl Ui
28 Ul M At widl foRdt aEE?
(1) 4 9 (2) 6 | (3) 7 & (4) 8 &Y
35, WYFRTHE Thl A XXV THA LXVI 9dd ATeheid Sed W o S ThHa
fepet e STRa?
(1) 38 (2) 39 (3) 40 (4) 48
36, TH GERT 15 3 e A T 9 Wi 9TeRR 12 94 e e 16
q Ol W oaehl TRt AEa?
(1) 180 (2) 4 3) 6 4) 14
FoHT UGl Far
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3.

. Ruraga boaght & kg, wheat at the mte of R

place value of hundred ang

What 1 the fference hotween the numdher with ber 31843 2

um
the numher with a ﬂrr.n valoe of .ﬁ.ﬁ,?cwruaar in the 0
{1} 30001 () 3003

{1y 0003 (43 JouN7?

« 38 per kg 3 kg. jowar at the

rate of Ra 32 per kg.. half kg tea at the rate of Rs. 280 per kg. She gave a
shopkeeper retum

S0 rupec note 1o the shopleeper. How many nupees will the
o hee T

(1) Ru 24846 i2y Rs. 186

13 Re &4 (41 Rs 64
39, Kolhapur-Ahmednagar bus started from Kolhapur with 25 passengers. Ay
Rarad. 12 passenpers hoardad the bus and 4 women got down. At Satara, 16
pesenpers boarded and 9 pot down. Al Punc. some passengen got down. If,
a Ahmednzgar 18 paceengers were remaining, how many passengers got down
o Pone 7
(1) 25 (2) 29
{3 23 (4 24
40, Whaoh digite wall occur i place of [0 and A, respectively, in the following
ciamplc 7
CCoD
* A A4
BN EEL
1y £ 3 (2 1,9
{3y 6, W 4 4, 5
{ SPACE POR ROUCH WORK
i
i
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W 35 TR w feeh w6 femn mg, 32 v v fem TR 3 fem wnd
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(1} 446 == (21 186 3

HITETR-FERTR TR 2§ VAT WH7 SO 9. SoT 17 Tt wwaR
WH A 4 W I AR 16 VAR T A 9 IR T wEnE TR

(1) 25 2y 29

4 34

q O OURT SNAFER W H{w a0
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xAAA
1 TORRDO
(h 33 (1,9
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41. By how much is 5% of 100 less or more than 10% of 10 ?

(1) More by 4 (2) Smaller by 4

(3) More by 5 (4) Smaller by 5

42. Identify the figure in the series.

AOALADDAA 2
2 o\
@ AA

43. Rohit gets a monthly salary of Rs. 18000 per month. He spends ._ME part on

4

J
petrol, .c..: part for domestic expenses and w_: part on bank instalment and

saves the remaining amount. How much amount does he save ?

(1) Rs. 2000 (2) Rs. 8000

(3) Rs. 4400 (4) Rs. 9000

44. Netrali purchased 2% ltr. milk everyday for first 15 days of September. On the
remaining days, she purchased 1%z It. milk at the rate of Rs. 52 per It. How
much did she spend in the month of September ?

(1) Rs. 1320 (2) Rs. 3120

(3) Rs. 3140 (4) Rs. 2350

SPACE FOR ROUGH WORK

0101/ Marathi Set-A 16 of 32 P.T.O.

5;—. _cc g M_.M_ d— .m Nﬁ d= ﬂﬁ Mu—ﬂﬂ!— X .
510 W TR wem e wha wme?

A:nu.an.ﬁq
. (2) 4 3 w”E
(3) 5 A W@ .
(4) 5 9 @z

42, FHA A AFEE i
LOAAODAA 2
@
@ oA

m (&)
Molo

T 14000 T TR A A - W e L2 e A

| 2 : . 9 5
| s dFon Terw w4 w5 A wEa @ faeerd 2aa. @ A fed T

(1) 2000 F7 (2) 8000 FT3

(3) 4400 ¥94 (4) 9000 TTA.
44, TET WA S WA 15 frm wEW @ 7w g e fram g e
g mﬁﬁﬁmvasﬂmﬂﬁqﬂa?mnﬁnﬂﬁéﬁaﬂwiu

(1) 1320 9 (2) 3120 ¥94

G.v 3140 T (4) 2350 T4

Foa HEE! W
|
-
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Question 45 and 46 : Answer the questions based on the pictorial information.

m%m“mun_h the No. of saplings
Rose % m w
Hibiscus & & & &
Champa x ¥
Tasmine & &

Scale: 1 picture = 10 saplings

45. How many saplings are there of Hibicus, champa and Jasmine in all ? 45
(1) 70 (2) 80
(3) 90 “4) 110

46. How many more number of saplings are there of Rosc and Jasmine than that

gam: 1 fad = 10 T

AR, AE A W A umm fRd a9 awar
(1 70 (2) 80

(3) 90 (4) 110

of Hibicus ? 4
() 20 (2) 10 (1) 20 (2) 10
(3) 50 (4) 30 (3) 50 (4) 30
47. L of 25 + + of 100 = + of O g 1 i) i o
.gof25+30 =3 of L aq.umﬂwﬂ._o:ﬂu*-uDﬂmﬁQﬂaﬁEHﬁ_?ﬂ
Write the correct number in the box.
(1) 275 (2) 55
(1) 275 2) 55
3) 125 (4) 250
(3) 125 (4) 250
SPACE FOR ROUGH WORK Fo FIATHIE! Tad
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48. What decimal fraction does the shaded portion in the foll

1

M 15

@ 5

owing figure indicate ?

(4) 4.16

49. Aditya was born on Saturday 14th Jul. 2001. What was the day on his eightth

birthday ?
(1) Saturday

(3) Tuesday

(2) Monday

(4) Wednesday.

50. Which symbols will occur serially in the boxes in the following expression ?

620100505 =48

1) = - %X, +

AMV X, +, =

3) - %X + -

Ah.v = ot X, =

51. What will be the product of the place value of the digit in ten thousands place
and the face value of the digit at the thousands place in the number 58279 ?

(1) 1000000

(2) 1000

(3) 10000

(4) 100000

52. Joseph used 20 quires out of 1 Ream for xerox. How many sheets are remaining

with him ?
(1) 24 @0 3 12 {4) 480
SPACE FOR ROUGH WORK
0101 / Marathi Set-A 20 of 32 P.T.O.

48. areid SAEdre gﬁ%ﬂ%éﬂ%v
QA
7|\,
4 1
M 7 @ 7 (3) 0.25 (4) 4.16
49, FMEE S 14 A 2000 o YFER Fol. @req g AEikaw S |
Bl
(1) R (2) §9aR (3) AR (4) 9uER
50, @il Reiedl Teeeia <iedd s s dra fa ada?
6020100505 = 48
(1) = - %, + 2)x, +, = — 3) + %X, +, — 4 = + X% —
51. 58279 A TEMHlA ISR WS RN wifte fRuden 9 Tke S
Sienrer ST foRwdiEn omeR faRdt?
(1) 1000000 (2) 1000 (3) 10000 (4) 100000
52, ST 1 W FERAS! 20 TR FE FE GE AR, W AT 998 R FR
oo ufea?
(1) 24 20 (3) 12 (4) 480
el HATETST ekt
[
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53. What is the sum of all divisors of 133 ?

(1) 134 (2) 145 (3) 160 4) 151

1
54. How many meters should be subtracted from How m and m m to get mm m.

as remainder ?

(1) 475 m (2)5.25 m (3) 425 m (4) 575 m

55.In a company, 95 workers work on same salary. The company needs Rs.
807500 per month for their salary. Then how much salary does every worker

get ?

(1) Rs. 9500 (2) Rs. 9400 (3) Rs, 8400

(4) Rs. 8500

53.

55,

auﬂﬂ@gﬂiﬂzﬂ%

(1) 134 ) 145

(3) 160 4) 151

ﬁﬂw?mgﬁﬁﬂgigﬁﬁ%ﬂaﬁﬁ?

(1) W& 9 (2) =1 ym (3) g=1 =R (4) grav Hel

‘U BTN 95 FIIR UHA IR FT A, e W Hue GO
807500 ¥H WM. T Yo% wmRen frdt TR fawd?

(1) 9500 (2) 9400 (3) 8400 (4) 8500

u
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56, TIACYHR B THH T D Sarpd srEA?
(1) 9= (2) FHIEy
(3) TAHAl Siha (4) FTEYA

56. Of the following, which object will have all its surfaces in square shape ? W,

(1) Brick (2) Compass box

(3) Cubical box (4) Match box

57, T SFA T T SN e e @ Y8 Ereeet wie

57. If the below given figure is folded to make a cube, which colour will not come A THUR TE?
adjacent to red colour ?
A
red ! 92T
violet A=t
blue w feran
green “ foazn | W
ellow | orange ‘ .
: ] (1) e (2) (3) fage (4) fe=n
(1) Blue (2) Orange (3) Yellow (4) Green :
i SPACE FOR ROUGH WORK =T FIWTERT wad
= P.T.O.
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58. For the following fractions, which <. >, = of the signs will be appropriate

s
<

.

60.

61,

-

8]
'I -l~«-..., 3]

T 4%
(1) < = (2) < «<
{3) > = 4y < >

Sonalt purchased & house at Ro. 37.50,000. She made furniture for the house
warth Ra. 7.23.000

valy

of R, $25.000 ?

At what price should she sell the house to gain a profit
(1 R, S.00,000 (2) Rs. 50,00,000
(31 R 34.75.000 (4) Rs. 49,50,000

The diamcter of a aircle with center B is the radius of circle with center A. What
i the length of <«cg. AB ?

(133 cm (2) 6 cm

(3: 12 ¢m (4) 2 cm

What 1s the sum of odd prime numbers between 1 to 50 ?

{1y 328 (2) 326

{3) 303 (4) 273

Dhancsh boarded a train at 11 o'clock in the afternoon, then at what time did
he board 2 train as per 24 hour clock ?

{1y 11 PM (2) 21 o'clock

{3) 12 o'clock (at night) (4) 23 o'clock

SPACE FOR ROUGH WORK
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58,

59.

11 TR e L R

. TR FeRR fa W S
BE7
N < =
(h (2) <, <
3 >, =
3 (4 < »
% TP T 3150000 T fow et e f 725 000 T wR
(1 5.00.000 (2) 50.00.000
(3) 44.75,000 (4) 49.50.000
.w%wﬁzmﬂ_ﬂaogﬁ>%n§§§%ﬂﬂﬁ§
frdl 3@@?

(1) 3 94 (2) 6 F&

(3) 12 ot

(4) 2 o

<~ -

61. 1 9 50 W= fam W wend 30w fwan

() 328 (2) 326
(3) 303 ) 273
62, WEATRIAY 11 SISl ¥ TN a9ell o 24 AN TEA=sTl §f el Srea med
TN ?
(1) 3Ol 11 9 (2) 21 aroE
(3) T 12 9= (4) 23 Fem
wET HIWEGT  Wae
—
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63. In a school, everyday 70% students out of 2300 perform Suryanamaskar. How
many students do not perform Suryanamaskar ?
(1) 1610 (2) 690
(3) 590 “4) 1410

64. By how much a 5 digit greatest number formed using digits 0, 2, 3, 9, 7 only
once is greater than a five digit smallest number formed using the same digits ?
(1) 117699 (2) 94941
(3) 76923 (4) 76941 .

65.

Which number from the given options when divided by 5, 6, 7 will give 4
as remainder ?

(1) 42 () 214

(3) 206 (4) 210

66. How many number of angles are there in the adjacent figure ?

(1) 10 2) 9

(3) 8 _ 4 7

SPACE FOR ROUGH WORK
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(—

g3, T WA 2300 ooy
el TR oo g

(1) 1610

3) 590

(1) 11 76 99

(3) 76 923

65. TEIIH N WEW 5, 6, 7 71 G w4 <2

(2) 690

4) 1410

(2) 94 941

4) 76 941

70 T fomnefl <wi eRR TR W

'Scanned with CamScanner

(1) 42 ) 214
(3) 206 4) 210
66, Ticiel SThdidid wiAEl He S,
() 10 ) 9
3) 8 @ 7
! FoAT HETERT e
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67.

68.

69.

70.

71.

Vishwas bought 5 dozen copies at Rs. 10 per copy. 5 copies were found
damaged. He sold the remaining copies at Rs. 715. In this transaction, how
much profit per copy did he make ?

(1) Rs. 13 (2) Rs. 3 (3) Rs. 115 (4) Rs. 12
TxS=-2x3+4="7"
(D 21 (2) 67 (3) 33 4) 147

The capacity of a water tank is 140 /. m part of it is filled with water. How

many liters of water is required to make it full ?

(1) 601 (2) 701. (3) 80L. (4) 901

Shrikant drives a vehicle at the speed of 85 km/hr. For how many hours will

he have to drive to cover a distance of 595 km, if the speed remains the same ?
(1) 7 hrs (2) 6 hrs

(3) 8 hrs (4) 5 hrs

Deep deposited Rs. 2000 for 4 years at the rate of 8 p.c.p-a. Pari deposited Rs.
4000 for 4 years at the rate of 4 p.c.p.a. Then what will be the relation between
the amount that they will receive after 4 years. ?

(1) Deep will get more than Pari
(2) Deep will get less than Pari
(3) Both will get the same amount

(4) Pari will get more than Deep

SPACE FOR ROUGH WORK
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_ ST L 1 T T
in the piven figure g 7- 0t B o iy ;
72, How many number of triangles and squates are formed in the g , WM e gy ey
N ,_
(1) 4,2 .
(H 4,2 (2) 5§ (2) 5.5
’ (3 5 0
A.ﬂu _J. 6 ﬂ.ﬁu .—. q ﬂ;._ A. il
32076, 23976, 32796, » ; _— ) . -
73, What will be sum of first and last number it 32970, 23970, 32796, 23790 are ” i fad? R T A UG e e el
LA L ne
arranged in ascending order ?
(1) 56 772 (2) 56 592 (1) 36 772 (2) 56 592
" ;
(3) 56 952 @) 56 772 (3) 56 952 4) 56 772
_ [ Lot Lot e ;
74. How many times - should be added to 7 80 s to get the answer 7 7 74. 5 5 il Geo i A T 7 fugar
(1) 49 (2) 48 (1) 49 (2) 48
(3) 7 (4) 14 3) 7 4) 14
75. The population of Sakoli village is 1,54,389, 1, 08,457 people have mobiles, 75. WIRTCH AR AR 154380 A TR 108457 FEEIFE HATA ©F AW W
How many people do not have mobile ? foredl eeRi®e e WA e
(1) 45,832 (2) 45,932 (1) 45,832 (2) 45,932
(3) 45,942 (4) 55,942 | (3) 45,942 (4) 55,942
W —
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